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QUESTION 1

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 

 

QUESTION 2

Which usage rule would be used to retrieve scalar measurements and convert the total from one unit of measure to
another? 

A. Get Scalar Details and Math 

B. Get Scalar Details and Apply Formula 

C. A custom set of usage rules must be written. 

D. Get Scalar Details and Axis Conversion 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18187_01.pdf 

 

QUESTION 3

Your client has the following requirements: 

Many customers are installing their own solar electrical generation equipment. When these customers generate more
electricity than required for their own use, the surplus can he exported back to the power grid. 

In order to measure this generation, we have installed special scalar devices. These devices have separate registers to
measure the energy generated (export) and the energy received (import) from the National Grid. Both reads will be
stored in kWh, but the import is subtractive and export is consumptive. 

What solution should you choose to configure the measuring component types for these specific requirements? 

A. Create two service points: one for subtractive import and the other for consumptive export. 

1Z0-996 PDF Dumps | 1Z0-996 Exam Questions | 1Z0-996 Braindumps                                2 / 3

https://www.geekcert.com/1z0-996.html
https://www.geekcert.com/1z0-996.html
https://www.geekcert.com/1z0-996.html


https://www.geekcert.com/1z0-996.html
2024 Latest geekcert 1Z0-996 PDF and VCE dumps Download

B. Create one new measuring component type for creating two measuring components (one for import and the other for
export) that will be linked to one scalar device. 

C. Create one new measuring component type for creating a new measuring component that will be linked to two
different scalar devices (one for import and the other for export). 

D. Create two new measuring component types (one for subtractive import and the other for consumptive export) to
enable the creation of two measuring components that will be linked to one scalar device. 

Correct Answer: D 

 

QUESTION 4

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object. 

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.) 

A. VEE rule 

B. TOU map 

C. Usage Rule 

D. Factor Override 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf 

 

QUESTION 5

Which three statements are true in relation to a Payment Arrangement Request? (Choose three.) 

A. examines the Account\\'s eligibility for Payment Arrangement 

B. ensures creation of either Pay Plan or Payment Arrangement 

C. creates the Payment Arrangement Service Agreement 

D. calculates delinquent amount for Service Agreements eligible for Payment Arrangement 

E. determines if the Payment Arrangement Request requires approval 

Correct Answer: ACE 
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